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| Semester 5 Year B.A. LL.B./B.B.A. LL.B. (Old Course)/I Semester
5 Year B.B.A. LL.B. (New)/B.A. LL.B. (Major/Minor System)
Examination, December 2015
ELEMENTS OF RESEARCH

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No.9 and any five of the remaining questions.
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2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.
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3. Answer should be written either in English or in Kannada
completely.
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Q. No. 1. What is Law ? Discuss the different types of law with
illustrations. Marks : 16
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Q. No. 2. Explain the circumstances weakening the binding force of a
precedent. Marks : 16
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Q. No. 3. Explain how text books and case books help a student to get
credit in the examinations. Marks : 16
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Q. No. 4. Explain Golden Rule of Interpretation. Marks : 16
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Q. No. 5. Describe briefly different types of legal materials. Marks : 16
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Q. No. 6. What is observation ? Explain the observation method of

Q. No. 7.

Q. No. 8.

Q. No. 9.

research.
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Describe briefly the tools of research.
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Write short notes on any two of the following :
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(a) Hierarchy of Courts in India.
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(b) Lecture method.
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(c) Layout of a library.
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Write short notes on any two of the following :
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(a) Ratio decidendi.
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(b) Internal aid to construction.
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(c) Types of civil wrongs.
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Marks : 16
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Marks : 16

Marks : 8x2 =16

Marks : 10x2 =20




